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% = B x4 ZHEW
BRIRE(LBALE| &3 BRE |SIRE|SEHE| 65 | R |SakE|LAHE B
F15EBE [BIREONDIZONT 32,204 67,065 99,269]  99.9% 36 0 36 0.0% 0 0
E2B5EE ([EX—HEREIZDONT 32212| 67,065 99,277  99.9% 28 0 28 0.0% 0 0
EIEEE I RSBMDFEIMEICDLNT
11H%X 8% 32,157 67,065 99,222]  99.9% 81 0 81 0.0% 0 0 0
2[RE K 32,155 67,065] 99,220]  99.9% 83 0 83 0.0% 0 0 0
3| BR E 32,139 67,065] 99,204]  99.9% 99 0 99 0.0% 0 0 0
4lBHO HR/— 32,159 67,065] 99.224]  99.9% 79 0 79 0.0% 0 0 0
5%k 1B8%F 32,159 67,065 99,224  99.9% 79 0 79 0.0% 0 0 0
6|FER —% 32,163 67,065] 99,228]  99.9% 75 0 75 0.0% 0 0 0
7%E H# 32,158 67,065] 99,223]  99.9% 80 0 80 0.0% 0 0 0
s|&H = 32,136| 67,065| 99,201 99.8% 102 0 102 0.1% 0 0 0
FASEE |BEER2B0DFEFICDONT
1@l EA 32,183| 67,065 99,248 99.9% 55 0 55 0.0% 0 0
20k &% 31,965 67,065 99,030]  99.7% 273 0 273 0.2% 0 0
FOEEE [HREER1L0DEEICOLNT 30615 67,065 97,680  98.3% 1,625 0 1,625 1.6% 0 0




